
1-6 83 67 50 33 17 0

1) 56•46 = 2) 32•49 =

3) 33•35 = 4) 37•49 =

5) 35•43 = 6) 35•35 =

1. 2.576

2. 1.568

3. 1.155

4. 1.813

5. 1.505

6. 1.225
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Lösungsschlüssel

1-6 83 67 50 33 17 0

1) 56•46 = 2) 32•49 =

50

40

6

(50 • 40)
2.000

(6 • 40)
240

(6 • 6)
36

6

(50 • 6)
300

30

40

2

(30 • 40)
1.200

(2 • 40)
80

(2 • 9)
18

9

(30 • 9)
270

3) 33•35 = 4) 37•49 =

30

30

3

(30 • 30)
900

(3 • 30)
90

(3 • 5)
15

5

(30 • 5)
150

30

40

7

(30 • 40)
1.200

(7 • 40)
280

(7 • 9)
63

9

(30 • 9)
270

5) 35•43 = 6) 35•35 =

30

40

5

(30 • 40)
1.200

(5 • 40)
200

(5 • 3)
15

3

(30 • 3)
90

30

30

5

(30 • 30)
900

(5 • 30)
150

(5 • 5)
25

5

(30 • 5)
150

1. 2.576

2. 1.568

3. 1.155

4. 1.813

5. 1.505

6. 1.225
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